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  Dependent Variable: ln( 1-G ) 

     

    Elasticity of 1-G with respect to H  Elasticity of 1-G with respect to H  

  Non-constrained Constrained to unity 

     

    Equation 1 Equation 2 Equation 3 Equation 4 

Explanatory variables     

Ln ( H ) 1.064 1.193 1 1 

  (0.026) (0.040)   

H -0.124 -0.230 -0.109 -0.120 

  (0.008) (0.025) (0.005) (0.012) 

H2  0.007  0.001 

   (0.002)  (0.001) 

     

 Fisher  Test F (84,496)= 17.3 F (84,495)= 18.2 F (84,497)= 17.3 F (84,496)= 17.1 

Hausman Test Χ2 (2)= 36.0 Χ 2 (3)= 39.6 Χ 2 (1)= 36.3 Χ 2 (2)= 39.3 

     

    Average distances from average fixed effects by region  

     

Latin America 0.019 0.031 0.028 0.033 

  (0.008) (0.008) (0.007) (0.008) 

South Asia -0.281 -0.297 -0.288 -0.293 

  (0.020) (0.020) (0.020) (0.020) 

East Asia -0.008 0.006 0.000 0.005 

  (0.010) (0.010) (0.012) (0.010) 

MENA -0.282 -0.284 -0.287 -0.289 

  (0.013) (0.014) (0.014) (0.014) 

Sub-Saharan Africa -0.021 -0.032 -0.030 -0.034 

  (0.016) (0.016) (0.015) (0.016) 

CEECs 0.153 0.160 0.152 0.153 

  (0.019) 0.019 0.019 (0.019) 

OECD 0.156 0.144 0.152 0.150 

  (0.014) (0.014) (0.014) (0.014) 
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6. The arbitrage between the primary, secondary and tertiary 

education in sub-Saharan Africa  
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Dependent variable 

 (in percentage points) 
  s1 s2/s1 s3/s1 
Explanatory 
variables     
H 9.85 4.06 0.75 
  (1.32) (0.80) (0.25) 
African dummy -8.40 10.34 -1.33 
  (4.33) (2.64) (0.83) 
intercept 51.83 4.75 2.01 
  (5.62) (3.42) (1.06) 
      
R2 0.56 0.39 0.22 
      
numb. of obs. 56 56 53 
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